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R [REBERE|MKRE|LENZRE

T=H & FR FE1RFKH wE (min)  [Q1(m3/s)[Q2(m3/s)[Q1+Q2(m3/s),
BB K AL FWL (m) 0 58.60 6.3 64.9
L EL (m) 1 2953 6.2 358
F=8ith 7K R : H=FWL-EL 3.3|(m) 2 14.88 6.2 21.0
HRETKE:V 5,130|(m3) 3 7.50 6.1 13.6
BA R H 8 (Costa): Qp 58.6((m3/s)  |Qp=325(H-V)** 4 378 6.0 98
REEE:A 0.1800|km2 5 1.90 6.0 7.9
FEKEE:A2 0.0010|km2 6 0.96 59 6.9
r=a/(t"+b) 7 0.48 58 6.3
HERARE &R il 8 0.24 58 6.0
2005EEHNE 503.3| =40 9 0.12 5.7 58
[ERsRE R a 21.76 10 0.06 5.6 5.7
[ERsRE R n 0.848 11 0.03 5.6 5.6
EREERXaxR 10951.81 12 0.02 55 55
FERsRE b 4838 13 0.01 5.4 5.4
PR BB R 36|45 AP 14 000 54 o4
LAA 15 0.00 5.3 5.3

RETER o 36|45 BT 10 0001 52 52
HYYiET 17 0.00 5.2 5.2

FIERRAOBREMEE 157.2|(mm/h) 18 0.00 5.1 5.1
HAKFEE—Y:Q 6.3[(m3/s) |1/36+fr-A 19 0.00 5.0 5.0
SRETHKIREN.2Q 7.56|(m3/s) 0.00 5.0 5.0
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®-1 RHGRRIEREHEERC

®-2 BOKEIERRM

ok TE C | ifikm2) fii &
7ot 70 | 0.0010 R FHESH 7= W Bk (i 1 P30
INE:) 290 | 0.1790
K 100
Bl 200
it 70 R HESH 7= W Bk (i 1 P30
&t 0.1800
Tif B 289
Lok f TR fii &
pastiadii) 1.00 | 0.0010
1i5;i) 0.80 | 0.1790
TR H 0.75 | 0.0000
B 0.53 | 0.0000
EHh 0.85 | 0.0000
arat 0.1800 R | S HEEP3T0
T R 0.80

i 0T

REQEERRY| BERE |AVERERE g5 | PUKELERSR N
(%) rimm/h)  |re=f+r,(mm/h) e tc(min) & nr
1 36.0 157.2 125.76 0.184 36.46 156.7 0.5
2 36.1 157.1 125.68 0.184 36.46 156.7 04
3 36.2 156.9 125.52 0.184 36.46 156.7 0.2
4 36.3 156.8 125.44 0.184 36.46 156.7 0.1
5 36.4 156.7 125.36 0.184 36.46 156.7 00
6 36.5 156.6 125.28 0.184 36.46 156.7 -0.1
7 36.6 156.5 125.20 0.184 36.46 156.7 -0.2
8 36.7 156.4 125.12 0.184 36.46 156.7 -0.3
9 36.8 156.3 125.04 0.185 36.66 156.4 -0.1
10 36.9 156.2 124.96 0.185 36.66 156.4 -0.2
1 37.0 156.1 124.88 0.185 36.66 156.4 -0.3
®-3 HKR=E:AIAEPE
t r In Q
" im (mm/h) " mm/m) | (m3/s)
1 36.0 157.2 157.2 157.2 6.3
2 72.0 126.8 253.6 96.4 39
3 108.0 107.6 3228 69.2 28
4 144.0 94 376.0 53.2 21
5 180.0 83.9 419.5 435 1.7
6 216.0 75.9 4554 35.9 14
7 252.0 69.5 486.5 31.1 1.2
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R [REBERE|MKRE|LENZRE

T=H & FR 3T wE (min)  [Q1(m3/s)[Q2(m3/s)[Q1+Q2(m3/s),
BB K AL FWL (m) 0 48.97 3.1 52.1
L EL (m) 1 26.55 3.1 296
F=8ith 7K R : H=FWL-EL 2.3|(m) 2 14.40 3.0 17.4
HETKE:V 4,800|(m3) 3 7.81 3.0 10.8
BA R H 8 (Costa): Qp 48.97|(m3/s)  |Qp=325(H-V)** 4 423 30 72
REBEE:A 0.0800|km2 5 2.29 29 52
FEKEE:A2 0.0020|km2 6 1.24 29 4.1
r=a/(t"+b) 7 0.67 28 35
HERARE &R il 8 037 28 32
2005EEHNE 503.3|= 40 9 0.20 28 30
[ERsRE R a 21.76 10 0.11 2.7 28
[ERsRE R n 0.848 11 0.06 2.7 27
FREEERaxR 10951.81 12 0.03 2.7 27
FERsRE b 4838 13 0.02 26 26
PR BB R 24|53 AP 14 ool 26 26
LAA 15 0.01 25 25

RETER o 24| BT 10 0001 29 25
BUIYIET 17 0.00 25 25

FIERRAOBREMEE 172.2|(mm/h) 18 0.00 24 24
HAKFEE—Y:Q 3.1{(m3/s) |1/36+fr-A 19 0.00 24 24
SRETHKIREN.2Q 3.72|(m3/s) 20 0.00 24 24
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®-1 RHGRRIEREHEERC

®-2 BOKEIERRM

ok TE C | ifikm2) fii &
Jstiadii) 70 | 0.0020 AEHEEH 7 DML 1 P30
INE:) 290 | 0.0610
K 100
Bl 200
T 70 | 0.0170 R HESH 7= W Bk (i 1 P30
&t 0.0800
Tif B 238
Lok f A fii &
pastiadii) 1.00 | 0.0020
1i5;i) 0.80 | 0.0610
TR H 0.75 | 0.0000
B 0.53 | 0.0000
EHh 0.85 | 0.0170
Gt 0.0800 R | S HEEP3T0
T R 0.82
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REQEERRY| BERE |AVERERE g5 | PUKELERSR N
(%) rimm/h)  |re=f+r,(mm/h) e tc(min) & nr
1 240 172.2 141.20 0.177 2417 171.9 0.3
2 24.1 172.0 141.04 0.177 2417 171.9 0.1
3 242 171.9 140.96 0.177 2417 171.9 00
4 243 171.8 140.88 0.177 2417 171.9 -0.1
5 24.4 171.6 140.71 0.177 2417 171.9 -0.3
6 245 1715 140.63 0.177 2417 171.9 -04
7 246 171.3 140.47 0.177 2417 171.9 -0.6
8 247 171.2 140.38 0.177 2417 171.9 -0.7
9 248 1711 140.30 0.177 2417 171.9 -0.8
10 249 170.9 140.14 0.177 2417 171.9 -1.0
1 25.0 170.8 140.06 0.177 2417 171.9 -1.1
®-3 HKR=E:AIAEPE
t r In Q
" im (mm/h) " mm/m) | (m3/s)
1 240 172.2 172.2 172.2 3.1
2 48.0 145.2 290.4 118.2 22
3 72.0 126.8 380.4 90.0 1.6
4 96.0 113.2 4528 724 1.3
5 120.0 102.6 513.0 60.2 1.1
6 144.0 94 564.0 51.0 0.9
7 168.0 87 609.0 450 0.8
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